——106—

Vista da "A"

dB-killer n.52
Cod.308421801

142

Allen screw M5x6
.Grower @5

SGl[€e13] 10057 ®

for allen screw M6
Cod.205767

Aluminium spacer

CARBON bracket silencer
type "FR2" Co0d.308448501
(with rubber sheath)

tubes
.2 SHORT springs

.2 SHORT rubber

- for bracket -

Aluminium spacer - Cod.205866

H Allen screw M8x55 |
|
J

H Plain washer @8x@16

KAWASAKI Z 800 E i.e. ('13/'16)

Art.8780S

Stip—on SBK "FACTORY S” —

OMOLOGATO "EVOLUTION 11"

Co0d.206130

2 Aluminium spacer
Je.32/24 @i.7 h.14,5

Plain Washer @6x@18

Knurled nut M6

HStrap-in stainless @51———

H Knurled nut M8

}7

Plain washer
28 x BJ24

BIKE'S FRAME

Pipe DX Inox
n.1023 Cod.308780202

CALIBRATED CONNECTION
_External dm: 49mm
_Useful depth: 35mm

CARBONIO — PFassaggtio STANDARD



